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I 3 600000 -IhrlnpurlB h ulurnrluruunlLlnrptp 2s,862,6

3361 r 120 Suilrnn|rrllrh l0 riq GZ 1-rurp 43.821 13629,36 1 680

33621 450 Uilln4lrqfrt-r 10 riq CZ hurp 24 120000 30000

3362 r 390 Urlfrlrrlupntr 200 rlq cz 1-ru-rp 64 3 84000 6000

3365 I I 12 Uilnpulrg]rfth +\prtlnrlruu.rruppnr 156/2515r.i1 cz SL I 090,95 1309 14 120

336.51 I l2 Utf npufrgfr$l-r +\prtlnrlurhu-rppnr 22 8i 5/5 rI1 cz SL 2027,25 242550 120

I I 600000 Ur-rr1$tughurutf]rr1 l-u.uurpf nr-r.[ 20%l 5 {1 SL 485. l 1r642,4 24

33661 1 l9 Llhurruil]rqn1 hulnp]rnnl 50"1, 12 t[y upquiU 34,65 2172 u(

33 600000 8hu[p]rq]rtr l0 rtq -, h-F 29600 400

33691140 Uglrurfr1g]ruurhftr I 00 ilq cz hup 76 22,\00 300

3362.1120 fif unqpnprl5 r-fq c2 hurp 2t 3 I 5000 r5000

3362112.1) tr]runtqpnlnl J0 r.fq CZ hu-rp 29,9145 4487 11 ,5 I 5000

3362 1260 h$h4pfL lVp r- qpur.tgfrh h/ppmtlrrl 125 ri1 r., $L 4[:i0 s7600 \20

3362 l 360 qtbghphtlh rinr,tfrt1 2, 1 I q 7' ilndfL1 l3l 78600 600

3369 t212 'Ifrnur-lfrl.r+hhuulLrpf 4f [r 500 rlq GZ hrup 89,1 4s s509 I 6, I 6.t 80

33631380 Snprlhpfrqntr hlrrlpnplnpfr4 I 5 0rlq l-rrup 101,724 42724,08 420

33641413 'Ihpuunlhuruqnb 4 tfq/l r.i1 CZ uFrlu\ 76 6s 7 66s 00

3364t413 rl.hpr.ruilhururqr-rlr 0, 1'2.5r,11 $L 68 6.9 83 s 4r211),01 60

3362 13110 thpurutlLrururqnLr 0,5rlq hurp 4l 82000 2000

3362 r 380 'IfqnpufL 0,25 ilq CZ h-F 6,069 24216 4000

33671 r30 'lfr$htrhfr4putlhb 1'2,- 1,0 cz upqul\ 24,255 1212,'t 5 50

3362t450 I-frq[Lnu1pfr120 ilq h-F 55"44 443520 ti000

336313t0 'If\p$htru\Lruurpfnrtl+fir1n\ur1]rh 2 r-11 az up{ru\ s26,6.E 263340 500

3362t10A LIturnqpnprll00rIq CZ l-rurp 208 B 82,8 64t30

3362.t1 60 hLLultuulpfrl 10 tiq l-rurp 5 5545 l3330ti 24000

336211 60 hlu-u1.uu1p]r120 ilq 7' hrup 27 s40000 20000

33621520 htrulurulp]r1 1 0 tfq +hlrrlpnpprpurf urc1f 1 25ilq cz h.up tt {( 1 627 50 s000

33621520 hhurluLqpfl20 ilq + fl.rrluulurr.tfr4 2,5r-lq cz urnulr 2340 1544400 660

3 3 600000 '!l.ro\urtutrlpfr\ ur.[h\urfur 3 rlq C2 4hqur$n2fr 150 60000 400

33642.230 I-LLnpfrprrpu[tr 1 00 rlq h*F l5 I 20000 rJ000

3367 1 1 t4 hnr$f1lllr 2,4'\.s {1 7' uptlu\ 4l.5fJ 2494,8 60

3365 l2ti0 Lf $nrprrpr-rurqlrl 2 00rlq 7' r1hr1u-rqurr-nId 60 ti6400 t440

33661 156 -(-dlu.lnprl0,5 %-5 il1 cz SL 408,24 t46966.4 360



33642240 Ofrullurqnl 10 rlq h-F 85 1s3000 800
3367 1117 SurnrSnlr 4%-10{1 cz SL 554,4 277200 500
33631290 hpmqpnghh l 00 ttq/5rl1/ 1 00il1 C2 QL 660 19200 120

33631290 hpnrqpn$hh 200 r.Iq N 30 C2 h*F s,565 14469 2600
33621600 hh4urqurdlr4 1,5 ilq hurp s0,2005 361443,6 7200
33631200 €lnpuilghLfr\n1 0,25% -5 rIfi CZ SL 460,32 27619,2 60
33611210 Unrl$uruur1urqfrh 500 rlq 7t h-F s 8.8 84672 1440

33591213 9upttupprlurlhh purgbil-rhph qulnfrdtrhp C2 rlt4uqu-u-nfrd OJ 327600 52 00

3361 1 1 80 Lur\unrlnqur 670rlq/rl1; 200tt1 CZ $L 2035,7t9 122143,14 60

3369 1 I 86 ''lllrpughtnuril 800 ttq hurp 54,978 129868 6000

33691222 1f prughLnurl + ghLurpi'qlrtr 7'
4h1uru1ulnfd 4r,07 6 2957 4t ,2 1200

33611420 \urplrnrri '13 500/200 l-rurp 33 396000 12000

3362t370 hqnunppfrl rllrLfrulruu 20 rJq h-F 36 129600 3 600

33621310 hqnunpp[4 r1]rLrirurprun 40 rlg cz h*F 59 236000 4000

33611180 I-ru\rnmpqu 667rlq/ri1; 500rlp CZ SL 4177,s09 200520,432 48

33661121 Ughu]rluurfgfrlurppnl + rfurqhfrrnrf h/ pprplr4 150 rlq CZ h-F 20,895 I 002960 48000

33661121 UgLurhluuDghlurppnr | 00 rlq htuF 26,2s u4000 3200

33621690 krup{hr1}r1n1_ 12,5 rlq h.F 28,3s 204120 7200

336s I l3 I
Unrffrurlhurnpuruqnl +urpfrlhurnulpfnl 240 rLo, I 5

{tl12O $L 692 69200 100

33621750 Lf$hafqfL 10 rlqN100 hrup 14,5845 5 t33 3,8 400

3366rr27 Uhuuqfllnl hurupfrmrl 500 r.lq cz h-F 6,048 3024 500

33661121 Ughurfrpurfrgfrlurppnr +ulurptughrnutfnl + \n$hftr C2 h-F 17 4A 26880 2000

3 3 600000 .luqhfrL 30 q cz $L t s9,8s2 9 59,1.12 6

33631230 tn{r4rrtr 1n4 1.0% 120rly 62 $L I 108,8 28828,8 26

3363 I 200 €pprud$hLlr\ny + rlhplrprpruglrl ulup\nrd 520 8320 16

3363 1200 punrp plnpulf$hhf\n1 10%25q ulurpqnLA 490 r17 60 24

3 3 600000 I.frhfril pulqunlfr\ur\urL cz ulutp\md 314,16 7 539,84 24

33621290 ' Imbnrlp u-rrlphtrufrh 0. 1 8% 1rI1 uptltu\ 1.40 1400 l0
33621440 I-nrbnr-1p phh4urqnl 1% 1.0 uprltu\ )1 1) 3326,4 r2-0

33621440 fnrbnrlp phh4uqnl 1% 5 rI1 up{ut1 41,58 83 1,6 20

3 3 600000 pb 9lhriuuulrh 5rIl c2. uptlu\ 203,616 8144,64 40

33621640 Zfr4pn\urpurfqnh ur2pf punrp 0.5% 3q CZ qurp\nd 760 t8240 24

3 3 600000 ULm2ur4plr uqlrpur 30 d1 C2 $L 97,r355 2914,065 t 30

3362\360 Lhtnpnqftghpbh hurp 0.0005 hurp 8,169 326,76 40

33661122 'Ilurpurghunuilnl 500 rlq hruF 4 6',) 693 0 I 500

3362t320 kutn{urfu mn}r tpurnpurur hurp hurF 2,016 72s7,6 3 600

3362t320 5b \ururrlurlumnfr \urp 30 rI1 c2 $L 165,459 8212,9s 50

33 600000 -Iurfr4nlhurp 0.06q c2 h*F I,102 4R5 1 50

33621760 hhuprqplrl5 tlq CZ h*F 5,04 2s20 s00

33600000 yb Uf rlnquf tl u:p \LUF 2.5% 5tJ1 T,'
SL 2172 44352 t6

3361 1 150 'lluh\phutnfrh l 0000 rftI hurp 90 90000 I 000

3362 1 s80 Zlr4pnplnppfnuqlr4 2s rlq cz h*F 1t,7 6 21168 800

33642220 Uhpfrlqphatrlrqnlnl.r 4 tlq hurp 68,67 247212 3 600

33642210 tph4hfrqnlnL 0,005q CZ h-F 84 6048 720

33621310 Splrilhpfft f 4purqfrh,qpnqfrnl-rurtn 500 r.fq CZ h-F 100 240000 2400

3361 1341 Llmlurfn{fruiurr,ftrh 3 -5ur C2 hutF 7 6,s 229500 3000

33611341 Llmltnfrr.{frtnuli}rtrhtp o2urpurtl c2 Sr 3200 3 84000 20

3 3 600000 Opufrilhrnurqnlrh 0,0 I %- 1 0 rI1 CZ SL 1070 s3s000 500

33 600000 Opuflfhrnuqnfrh 0,025%- 1 0 rI1 $L 93s 654500 700

33651280 Llr$mpnpuu-rqfr4 220rlq /5riy90riy $pr\nLr /o2urpurtl $L 2047,5 245700 t20

33600000 trpniln\pfquilrtr 2,5 dq hurp r 09,09s t24368.3 I 140

33 600000 'ilnfinprnnptr 4 rlq hurp 64 05 230580 3 600

.4



3362t460 'Ilhpfb4nqpfrl4 tfq CZ hrup 39,5325 I 89756 4u00

33621460 0hpfrh4nulpirl B ilq CZ hurp 56.49 21 1152 4800

33621464 'llhpfrhrlnuplrl5 rlq CZ h*F r09,2 393120 3 600

33621460 tlhplrir4nulplrl 1 0tlq cz h-F 136,605 491778 3 600

1365t I l1 Uilnpufgfrfrh 250 dq h-P t7,6 79200 4s00

33691232 Lfrtlhumfrrl 100 r.tq cz 1-nup 80 96000 1200

3361 I 100 Orlhqpurqnp20 ilq CZ 4hrluqurufrd I 2,81 184464 14400

3367 I I 13 Urul:ntuuur.fnl gnqugfrp 100 ilUq/ 200 r1.rqu 7,
$L 1 550 558000 360

3369r2r0 Uurpn$urLrurfrh 0,25 ilq-l il1 upqur\ 1050 20

33621 I l0 {.up$up}rh 2,s rlq huF l-) 1 50000 1 0000

33621620 UqfpnLnlur\urnl-r 50 rlq GZ 4hrpuulurnfrd s1 1015 73r411,25 1 3700

33651253 Surlnpuf$hl-r 20 LIq l-ru-rp 64,914 1011 19,2 r 0800

3363 1 1 70 Shurpugf\firh I%3 q/urgtfr pump/ cz qurp\nrd 780,1 s ts603 20

3362t310 Splllhurruqlrrlfrtr 35 tlq UI} cz h.uF 41 73 8000 1 8000

3369 t230 Spnpubnnrurlrh 300 rlq c2 4hrluqruuifd ,1 <<) 413280 r s000

3369123Q Spnputnnrurf [r 2"/" {q 40 q CZ qrup\nrd 320 96000 300

33661122 'Thupughururilr-r1 rfnil|r\ 1 50 rlq ilntflrl1 54,2535 s4r5t s I 000

3366r]L22 'IIupu,rghrnurilnl ilnrff\ 325 ilq CZ dnilf\ 65,8 14 65814 r 000

33661122 QupugLururilnl r,tnrlfr\ 500 r.fq cz ilnilf\ 10s 26250 2s0

33661122 'Ihuprughurrurhrl 120 ilq/5 il1/100 dl &z $L 4t5,8 99792 240

33691204 Shtrfrh4|rnh 0,03q c2 h-P 34,314 t02942 3000

336212r0 bp\rup]r unr-1Srur-n 50 ilq/s il1-100 SL 1 99s I 1 9700 60

33621410 Unpunhf4fitr 0,4 ilq h-P 248,6 435050 I 750

3 362 I 590 Srrrpruuhrflrrl | %-2 {1 CZ uFilul\ 27,72 1386 50

3367 rt25 Uilppnpunl3 ilq/il1100 CZ SL 680,4 81648 120

3361 1 r70 'Ipnr.nrurlhpfrl.r 40 ilq N100 CZ h*F 8,3 16 83 16 1 000

33621763 Ltpfr{u1n15 rfq. C2 h*F 95,1 40s 308635,782 3244

3361 I I 10
kru$mrl r.uuqurnruqfrhtur.n 1 5 8r.[q riurgh]rmil

uruut tunurqhhunn I 4()rJq-
7t hurp 40 60000 I 500

3 660000 Ufilhurfr\nl-r 7,
$L 1829,1 219492 120

3362]|590 $nrpluuhr.If4 40 rlq h-F 4,41 52920 I 2000

33691itiT .lirbqnghgftr 10 ilq az h-P 71,4 1 1 5668 1620

33691203 t-nqurpururh l00 r.fq l-nup 60 1 08000 1 800

3363 13 l0 'If\1n$hLu\ 100 ilq rImIlrtl 106,722 53361 s00

33621540 nlruqullhpfrtr ]rfrrlpnplnpfrq upr{ur\ 976,5 t 30

3361 I 1 r0 UlnrdlrLnrd+ilruqhlrmr.I hlrrlpnpppf4 1 70 iI1 7t
$L 1048,9 1 85 31161,066 36

33651 120 tpn\u3|rtr 2%/2ily upqurq 24,255 485 l 200

3361 1360 tun1h\uplr$hnn1 15000 b 10/rI1 cz bL 716,824s 286729,8 400

33651224 tlhrnnrnphpuuur 10 rlq -, hluF 196,s6 s8968 300

3 3 600000 9r.rprlurpr125 rI1 SL 126,4725 6323,62s 50

3363 13 I 0 r}f\pShlru\ ogpulif\ 0,1% - 10,J.120 SL 1 801,8 64864,8 36

3361 n20 $uilnutfr{rL 20 rlq huF t J,o) 38220 2 800

3362t460 'tlhpfrL4nulplrl/ulflnrlfrqftr 1 0/5 GZ l-rurp 102 545400 2700

33621460 Ahpf h4nulplrl/ruilp4fiqfrb 5/5 -., l-rurp roJ, /y) 298431 r 800

3361 1 1s0 'Iluh\phuufrl-r 3 500 UU CZ h*F )L 240000 7500

33621140 91nq[r4nqphp5 LIq cz 4h1uru1u-rurfrd r12,3s 808920 7200

33691 t99 uffdupfV\upufry' e0 rlq 4hququulrd 80 288000 3 600

33600000 Qupuqhhurfrl-r 3 00 r.iq 7' 4hrluqururfrd 99 89 100 900

33651223 UU hu\uriiurlurrugr.iurh rutrruunpufh l r.I1 CZ uFqtu\ 210 21000 100

3365 I 199 Ztu\u-r\tuurturlmpl u-rh qruurtluruururL3 mp GZ uprlu\ 6300 7s6000 120

33661 r33 9up4fr4nqru+I-hnrlnqu 25riq/25 0riq 7t h-F t13,4 l3 6080 I 200

3367 I I 13 Uurpnr-ururr.In14 rlq c2- h-F 54,211s. 48790.35 900

33671 l I 8 Sfrqpn$ppuurgfrh 0.,3% 10rI1 c2 $1ur\nh 623,7 1247 4 20



33691189 trhuruqfruurlih 24rlq h*P 73,08 8769,6 120

336217 30 {hpurqullirl (r{tpurqrurl}rft hf 4pnplnpf 4) 8Oriq cz h-F 28,s6 34272 12.00

33621390
ullfrn4tupnll (ulllrn4urpnhlr hlr4pnplnplr4) 50ilq/rl1;

3 r.It
up{ru\ 272,664 5453,28 20

3361 1130 4[$hLlif 4purLlf t (afightrhfraprutt]rh[ hfr4pnpppfr4),
tuilnhfrnulfr plnplr4 1 . 9 92rl(rlf 1 9. 92ttq/rl; 1 2 5 tt1

CZ 22b\ 993,3 953 s 6,8 96

33 600000 tlhlopuf\ull I5rlq hup 56,227 s r01 209,s 1 800

3367 1rr3 uurpnr-tnuuinl (urupntururtlnft untl$uu-n) 2ilql5il6
125l-t,

cz 22hlr 960 92160 96

3367 1129

hfurpn$nrpur; uhrnpruLlurlfrh (rnhLnpu\ur3frhlr
hf4pnppplr4), ghhurqntr 2,5rlq/il1+

3 1,2sr.tq/rfr +87.srlq/rlr :

$1u\nh 78s 56520 72

33661154
uhnpur\ur1|rL (r.nhurprulurlfrtrf hlr4pnpinpf4)

10dq/il1 10ilr
7' $pu\nh 2494,8 | 4968,8 6

336t1170 4pnururrlhplrh (4pnurul{hp}rtrlr hfrapnplnp}r4) 20riq/il6
2{.t

uFqluq 190 7600 40

3361 1 1 60
ulpunf $f [rL (qluruf g]r1Jr hli hfr4pmnurpurpruur)

2r_to,/rfi:1r.lr
q) uFqulq 140 4200 30

33621330 hlr\hpullfr4 25 0rlq/il; 2tl1 ulqurq 180 3600 2.0

33621,660 $hLf 1L$pf h ($uhf ltgpfrtrfr hfr4pnplnpl.r4) 1 0rI(rI1;
1 tfr

uptlurll t20 1200 l0

3367 1129 lr]rurpn$nrpurl rlin2]r 0,02 q q2 Sltu\ntr 00 3 000 30

3363 1410 upqmplrbnp 100rlq h-F 40 r4400 360

33 600000 l0%,50% 4trlnpur3p r4,392.1

3362.14s0 Uil1n4[qfh 10 ilq *7' h*P 29 652500 22500

33621390 Urlfrn4urpntr 200 rlq h*F 85 479400 5640

33621',720 Ffunqpnlnl5 rlq hup ZJ 282000 t 1280

)JOZ 720 Ffrunqpnlny 10 riq C2 h*F )z 5 86s 60 I 1280

3369 zt2 'If nutlfrL+hhuqhpfr4lrh 5 0 0 ilq C2 h.uF 90,0 22.6800 2520

3363 380 Snlqhplrqnh hlr4pnppplr4 1 sOrlq C2 }nup 97,3 2919',7,3s 300

3364 413 'Ihputurfhrnruqntr 0, 1 %-5rI1 6Z $L 612 20160 30

13621380 'Ifrqnpulrh 0,25 rlq h*F 6 I 0800 I 800

3l 62 1 4s0 I-fqfLnqpfr120 ilq hurp )-J 287896 5432

3363 13 10 I 'If \1n$hLtu\hur.nplrnrtt+fr4n\Lu1frh 2 rI1 cz unqtxq s40 205200 380

33621700 Uhunqpnlnpl00tlq hup J) I 1 3354,64 3240

33621760 hhrulu-ru1plr1 10 rlq 7t hrup u4 15 1200 1rJ000

33621760 hltutprqplrl20 dq hurF 43 3 87000 9000

3362t520 hhurluqplrl 10 dq +h]r4pnpppr.nlrurqlr4 12,5 C2 h*F 50 l 88000 37 60

3362tr520 hhu1urqpfr120 rfq + frh4ruqu,rLlf4 2,5ilq rnm{r 2460 1771200 + 720

33642230 I-hnplrpnpufrtr 1 00 riq CZ h*F 18 4s00

3366r 156 f+lrdn1n10,5 %-5 Lf1 C2 bL 405 I 13400 280

33642240 fdfruduqnl 10 LIq h*F 76 r06400 1400

3361lL1'7 Srunr$nh 4 %-10 r-11 SL 554 332400 600

33631290 hpnrqpn$hh 200 rlq hu-rp 8 ?.1600 2100

3363t290 hh4uqtudlr4 1,5 riq C2 l-rurp 50 225000 4500

33631200 Pgrpuil$hirlr\ny 0,25% -5 LIfi GZ $L 450 ?.0700 46

3361 1210 Unrl.Suuu-r1urqf h 5 00 rlq GZ hurp 74 58916,4 800

31691 186 'rlfpurghtnutt 800 rlq hrup s9 267198,7 s 4500

3369t222 Tllrpurghnurd + ghLuphqhh CZ 4hqurqtuufrd 30 t 62000 5400

336tr420 9rulglrnril'I3 500/200 h*F 425250 9000

33621370 hqnunppfq qfrLlrurpruur 20 rlq hurp 28 7 5694,s 2700

3362.1370 hqnurpplr4 4frtrfrtnpu-rur 40 rlq + C2 hurF 51 2.57 559,7 5 4_s00

3A61 1 180 I-ur\tnmpqur 3,35 ilE5 il1i500 CZ SL 57 57 r03617.36 t8

3366t121 Ughuifrluulfrgfrlulfaldnl + rlurqhlrnu.f h/ plnplr4 150 r-lq hur.p 21 s67000 27000

3366t 121 Ughuilrluruf glrlurppm l 00 rlq hruF 50 r4000 2000

33621690 trup{h4fp1 12,5 dq h-F t14 61s600 5400

336217 50 ,li$h4hu{bb 10 ilq h*F l6 6417,6 400

33621640 lf.rrlpn\urpurfrqnh ur2pfr ilruq 0.5% 3q c2 qup\nrd 840 1 6800 20



33621360 t frurpnql]rgfrpfrtr l.rrup 0.0005 cz h-F a5 160 20

3362t320 9urur{ur[r-rurfr Lpuurpurur hurp C2 h-F 2 648,9 300

3362t320 -b 9ururL{ur}ur-rurf \rup 30 rI1 c2 bL 160 6400 40

33621760 hhurprqplrl5 r-lq h-F 6 5821,2 900

3l6l 1 I 50 Iluh\phuurlrh 10000 ilil C2 h*P 89 53400 600

33621 580 lfr4pnpprpplluqir4 25 tlq h*F 13 172s5,7 1320

33642220 I-Ihpfrluphrlhfrqnph 4 tlq cz huF 70 I 89000 2100

33642210 Tlph4bfrqr.rlntr 0, 005 q C2 h-F 9 3413,34 360

3362 I 3 10 lplrrfhpfrlhfr4purqfrLr,qpnqfrnhurrn 500 r.fq 7, h-F l0l 181800 I 800

3 3 600000 Fpntin\plrqufrh 2,5 rlq 7' h-F 105 62823,6 600

33 600000 ipl-rurlufrhnprlr 4 r-[q GZ h-F 80 43052,3I 540

33621460 'tlhpfb4nu1pfr14 r.lq h*F '78 2',7987 r,2 3600

33621460 Tlhpftqnqplrp S rlq cz hurp 110 397 r64,6 3 600

33621460 'tlhpfh4nqpf15 rlq h*F 111 299700 2700

33621460 'rlhpftr4nuplrl 10rlq cz hup 138 372600 2700

3 3600000 FhrnurqfurnfL 16 ilq 7' hurp 134 40200 300

336il 100 Otlhqpuqnl20 r,fq 4hrlurqurtnfrd l6 1 69986,6 1 0800

3367 t1I3 Uurpmr.nurr.Inl gnrpugfrp 100 rfLlc/ 200 4nqtu SL r 780 242080 136

13621 I l0 '{up$LupfrL 2,5 ilq 7> h,,up IO 90000 9000

33621620 Uq]rpnhnlur\urnl.r 5 0 riq cz 4hluqutnfrd -)o 504000 r 9000

33621310 Spfllhurtuqf4frtr 35 riq Uft C2 hrup 6l 672186,69 r 0020

33691230 SpnBuhnnrurfrh 300 rlq 7t 4hrpuqruurlrd 30 I 80000 6000

3369r230 Spnpuhnnrur$r 2% {or40 q qurp\nrd 278 41.700 150

33691204 $hLfl-r4frnh 0,03q T> h*F 39 29773,38 760

33621470 tlnpunhfr4|rtr 0,4 r.tq h*F 344 221570,454 644

33621 s90 $r-rrpurtrhilfrrl I oL2,J1 CZ uFqruq 30 483s,04 160

336217 63 Lhpfl{u-r1n15 r-tq CZ o hrrrn"*r 96 I 32480 l3tt0

336ull0
Ilruftrnrtl uuqurnurgfrtrurr,n 1 5 Stlq r.lurqhf mtt
tuuulrrrrrurq[LtLrn I 40rlo

h*p z1 40272,7 5 I s00

33621590 $nrpuuhilfrl 40 r.fq 7t hurp 5 2828'7 6000

33691 1 U7 .{fl-rulnghgfLr 10 rlq h-F 24 59323,32 2520

33691203 I-nqrupural-r 100 rlq C2 h-F 87 |9412,09 13 U0

3363 I 3 10 llr\prghhu\ 100 ilq cz ilnilf\ 40 181 70,46 460

3361 1 1 10 U;nuifrhnuf+tfruqtrfnul hirrlpnplnplr4 1 70 rI1 $L I 150 29909,88 zo

T6s12)4 llturr-rurphpuruur 1 0 rlq CZ hurp 227 90627,6 '' 400

l -] 600000 knprlur1n125 rly c2. $L 122 12200 100

3363 l3l0 }f\1n$hbLu\ o$puplf\ 0,1% - 10ri1 CZ SL 1 802 32432.4 18

336r 1 120 $udnurfr4frl-r 20 ilq h*F 15 4307 1 2800

33621460 tlhpfrhrlnqnbL/rudln4frqlrtr I 0/5 c2 h*F 205 282900 13 80

33621460 tlhplrtr4nqnlrl/urti1n4|rqlrtr 5/5 hup 167 I s0300 900

33611150 tuL\phuufrh 3500 UU c2. hurF 38 t14628,5 3000

33621 \40 trprqlr4nqphlT5r.lq
4t4tuqu-rurfr6 130 s 8s000 4500

3369 r r 99 Ul.r$r[Lup]iL/\ urpulr/ 3,-s Liq cz rlhrlurqurur[rd
q-
l< I 73 180,f3 4[.]00

3 3 600000 Quptr,rulhhurfrlr 3 00 rlq CZ 4h1u-rqururld 298 268068, l s 900

3369t226 urpurt[u-r4n1 (r-nplur,lur4rrfr hli4pnplnpf4) 50rlq h-F 49 48562,5 I 000

33691226 urprurlurrlll (urprurfurlnfr h]i4pnp1nplrr1) 1 0ilq/2il1 c2 upqur\ 185 369600 2000

33661 t36 4|rruqhqutl 5ilq h-F l) 77263,2 5040

33661 141 $hhuqhulurrl lrlq h-F 12 62233,92 5040

33661 13 I Shhr-rprupplrururl 1 00rlq, h*F 20 59496,192 2916

3 3 600000
urplrhhpufrShtr[4f 1 (urpfrhtput'ShLhtrhf]
hhnnnornnhn) 2ilo. $1ur\nL 10 30807 3000

33661 1s3 'Itpuurltptuqnh 0,5rlq C2 h-F 4'7 28440 600

.4



33210000
€ftl. L;nr-php L ttlrurhrlurq oqrnurqnpbriurtr pnrd.
qurpuqurhhp

s,141.5

3321 1250 C nhu\urf { uqfunul\mg uhufrq 70 91000
1 300

33211230 tlnn u[$f1]ru utruftrq 70 | 05000 1 500

33691166
9nprrtlpfrur urqurp/ rl]r2ru{r-u;p uluhtutr2\nui

rlurhnthhnh/ cz \q 100 150 15
33200000 Uqnqfrpull 7>

SL 2000 ti000 4

33200000 ULS 7, huru 40 48000 1200

33200000
Uuqurprnruur urilfhnurpurhu$tpruqlr npn2rlurh phuu

huLlurourbnr urLuftrq 40 48000 1200
33211260 ULurfr-Uuphqr.nnflrqlrh O c2 ruLurfrq 80 28800 360
33211140 effrnnrpfrh url-rur1. 40 8000 200
3321 1720 Qgnr\nqtu npn2r.furh ptup hul]urprubm C2 urhrul z) 625000 25000
33200000 bnplnppurguluurppnt 120rI1 3 % c2 hurn 2000 20000 10

33211160 Irphulnfrhfh cz urhurl z0 24000 1200
3 3200000 Zhilnqppfrtr tt-n 5000 50000 10

33200000 ZfilLulfrtr Qnu$uruurqurlr npn2rlurh phup-
hurlupr,ubnr urhul 60 60000

1 000

33211110 Uh4fru\pfl-r-2 urnrtfr 3500 42000 tz
332 1 1 1s0 UfqurLlnrplr npn2rlurh ptup hul{urprubnr ru[rru1 40 s6000 1400

33200000 2u\tupfinLnfr\ +h"\hn' r.unrqrlhtnf tr cz $L 1 500 3000 2

33200000 2u\upfrnuf\ +h"\hp' ghgurpfrupunh \c2
QL 1s 00 1 500

33200000 Zu,t\upf nurf \ +l'u\hp' ghgnrnopufl.l c2 $L | 500 3000 2

33200000 2ur\upfrnnfr\ +t'"\hn' urin\uir\1ull SL 1 500 3000 2

3 3200000 Zu-t\upfnuf\ +t'"\hp' ullopuu-rgffrh $L I 500 1 s00

3 3 200000 Zur\rupfrnurf \ +hu\hn' gh$ururqlr4|ril SL 1 s00 15 00 1

33200000 2tu\upf nnf\ +l'"\hp' gfrqpn$lopurugfrL CZ SL 1 500 1 s00 1

33200000 ZLU\urplintnlr\ +hu\hn' o$lopuurgfrlr SL 15 00 3000 2

33211130 tunlhuuhp[rl-r CZ tuhrul 40 720000 1 8000
33211240 Ilhrlunnnfr4 Sur\unp cz url-rtu1 tt0 48000 600

33211\310 ldpntfpnqlurur-n]rh]r npn2rlurh phup hurrlurpurbnr G2 urhurp 100 320000 3200

33211190 Snfr\lnh urhuifr-U 1 0rI1 $1tu\r.rh 1 200 1 4400 IZ

33211200 Sn$\ph ulhurf-tr 10 rI1 $1tu\r.rh 1 200 I 4000 tz
3321)220 8n[r\1nh urLrurfr-r] 10 ri1umqhp GZ Spr\ntr 2500 3s000 14

33211210 Snfr\pll ruhurfr-8 I 0 r.l1 unrulhp C2 $1u-r\nh 2s00 7500 3

33 I E13 10 Uhp[1hh \urqnrjrn rf n2fr qpuu.I 80 2400 ' 30

2,431 1190 Urpuppnr \nhghhinpb\ tr*p 20 10 05
24321440 purgurfrruppm \nhghbulpb\ CZ t]'-p I 200 2400

33200000 Lhp\ flnilurhn{u\}r 9fllqur CZ tJrtnp 8000 8000 1

33200000 Na gfurpurur az \q 4 I 000 250

3369r166 illr2u{utlp Ofihhg\nr CZ qpurt 40 I 0000 250

33141179
Zrur{luprubm N2 /fh4}r\urunpurl}rh pqphptr

hurr-lurorubnJ hrur-n 400 400
1

33621641
trd2\tu\uh qnpbfrpLhpfr hur\urpur\rnhpf u-r1

urh,rtnu-rhu-rhhs r-[hono tlr-tt l 0000 80000
B

33621641 hur\rupur\uihpfrurl hh4nrll 1lu-rgr-rr1 rlfr2ng <4'I> tr-n l 0ooo s 0000
5

33621641
hru\urptu\r.nhpfurl hhrlm\ llurgnq Lilr2ng' &hnphpp

urtuumrhurhht m hunlurn
C2 tr-n r 0000 I 00000 10

33141 160 Ohl,npur&uqlrrulfL qt1 250rI1 cz huln 350 -s2500 150

3362r641 'Ilhnhqhqnnt 33o1,'l:.Jit CZ tr-n 700 s6000 BO

3367 1138 Uqlrpur 96% tr*n I 200 u4000 70

33141117 trutlpu\ 100.0 huru 250 75 000 300

33r41133 tr|rhur 5 * 10 n1 urnhplrl C2 hurur 100 70000 700

33141133 trfrLu 7*14 hurtn 120 84000 700

33r4r 116 trfhu qfrquh 3*10 C2 huru.r 400 l 6000 40

33141116 trfhu qfrquh 3x20 hurur 400 I 6000 40

33141129 'Ifilu\ ilfurL{uq c,2 huru.r ZJ 25000 1 000



33 141 I l4 fouhqfrg pd2\ru\uh cz il 100 I 2000 120

33 141 100
Uh\ uhguni3ru oqurruqnpbr{nr1 q$-rh\np-rqfrur\urtr

urtull uL2npLlr gL lnSruLurqur Ln
$-phtu 4000 240000

60

33 l4l I L2 Uultrlu-rlrfr utuLuir.ur{ir\ \uri l-rurlupdhp CZ hurur l0 I 0000 1 000

3314|42 Lhpurp\|r2 uuhrpr.l 2.0q CZ hurur z0 6000 300

33 t41 t42 Lhprup\fr1 uruhqr.rr.l 5.0q C2 hurur 22 4400 200

33 t4t144 Uuhrl 0fix40 hulu t0 60000 6000

3235t230 hUA duulu{hh 63-30 hur.n 630 1 89000 300

32351230 hUq hh\unnr1 S5ilil l-rurur 100 42000 420

3r69 1 1 70
Ohltuqhtr druulu{hl-rtrhpfr $fr\uurd' rullpru\fr2 1 5, 0

CZ tr-n 1 0000 40000
4

33691110 Ohhuiqth durulurlhlrhhpfr hphru\[2 I 5,0 CZ hurur 1 0000 40000 4

3ll I I I40 5; nurpnqpru$frtul fr durulurtlhtr \uil hrur.lurpdhp 7> hurur 35000 420000 tz

32351230 O'hl-ruqhh duqrutlhh l3x l8 CZ unr$ 8000 24000 3

32351230 Ohbuqhtr duruputlhh l8*24 7> tnnulr I 4000 84000 6

32351230 flhhurqhL durultutlhh 24* 3 0 CZ urm{i 22000 44000 2

32351230 flhLuiqhtr duqur{th 30*40 urnr$ 3 5000 24s000 7

33141t43 U \ruplr$fr\urr-nnp uurhpfrl htuur 10 200000 20000

3 r35 I 1340 Oub\uu1u\ir 18/18 hiurn 5 r 00000
20000

3 3 790000 trudur\ 250il1 GZ hurur 1 100 2200 2

33r4l]31 Snrphf \ hu' {ru,r \ r,u hnrl CZ hruur 800 24000 30

33t ) 1240 'lilrulhu\uJh burlpu\ur1 1 000rI\1 CZ hruur 12 I 2000 1 000

331 11230 0f qhur\uqf 6ur1 pur\ru1 200il\1 C2 huru 10 20000 2000

33r I 1230 'tllrulhu\ru1 fr burlputlurl 1 0rI\1 huru 10 20000 2000

3 3 200000 'tlfrqhLn 0.1rI1 CZ hurr,n 150 7s00 50

33 200000 'IIfrulhur 0.02ri1 hurur 150 r s000 100

3 3200000 'llliqhur 2, 5 ill ulluruulftuuh rnurl-rd.fr\nrl C2 hruur BO 4800 60

13r9l3t0 thLrurl-rfr$nrqurlfr r"lrr-rp&url.rr-rp trfr2nrl huru 120 3 6000 300

33t91310 Onp&urhnla 2- l2 ntuu.) 110 22000 200
3363 1260 1r-rr1fr prrbnr-1p 5 urn\nu SL 170 3400 20

33161220 Cultuurhl cz huur 15 4s000 3000

38431490 'Ilhurpf ]r puu (Uu1u\; tu) CZ huru 4s0 s4000 120

33 | 1 1220 Qnplrul-rfr \urlhpu hurut 3500 l 0500 3

3 3 790000 2nq |urunhlr2 cz hurur 110 2200 20

3 3 790000 'h-rqruunp cz tflllu.) s000 5000 I
1

3 3 790000 ?u{r}r2 \npu 25rI1 CZ hutn I 000 4000 4

3 3 790000 knpur \ntrtu&1-r 500r.t1 hf2hpnr-l cz huru 2000 6000 3

3926 1 000
aphhur\urL qlrurmlphhp h qpuruttrlu\rulfrh
btntBtn trQU2 hurcl.4putt

300.0 300 0
I

33760000
SLurhuur\urtr,uurbhfrqfrhht q b f{-Sph
ilF2ngLhp trQUZ huq.4prud

990.0 990.0

50311240
hurlur\urpq1ur1 f h,ulururdhhu:.hurhrftuh
uurnpulilnnnr.ilhhn h odurhnurt lrrmrahn

trQU2 hruq.4pull
900.0 900 0

331 00000 trd2\ur\urtr qnpbfrphhp,pntduruppur{npmrlhhp trcu2 hurq.4pull
q.

500.0 500.0

3 1 700000 h1b\urpunnh|uhfr\ru,nurlfrmnhluhfr\ur h
h hhqulnrurhL uurnDuril nnnr.r.thhn

trCUZ hurq.4puril
500.0 500 0

UCIUUSUL.PLbI
39261 000 Squrclpnr-p1mh C2 hurq.4pull 2,200.0 2,200.0

5W11240 Purpppf 2bhpb trgBurqnpilulh trcu2 hurq.rlpunl 200.0 200.0

50311240

2ullur\urpqfrthhph, hrurlur\urpq2urlfrh
uurppru rlnpnuibhpfq urqlr2hhplr h odurh4ur\
uurppunlnpmrlhhpfr rlhpurhnpnqriurh trcu2 hurq.lpull 300.0 300.0



50421 300

ft htruqhtr urluurnpn2frl uurppunlnprlurh
4nqulur{iur\urh, nhllnqth \urpfrhhrnfr
uhfu trf \ur\ruh urh&burqpunlnpriurh,
urh&hur\ruqrllr urhhururur[urh 4nqur2rurfrru\urh
hu\nrlnrplnth

trcuz hurq.4lunl

144.0 144 0

t

33000000
-Fntduutppunlnpmrihbpfr rlhpurhnpnqrlurh

trcuz huq.4punl
300.0 300.0

I

48440000 Zur2rlurqurhur\urh rllururnurfdrlfdtph
hurp4urprlurtr, hrunr.turh h hurqliilurh

trcu2 hurq.4pull
200.0 200.0

o'unuSnhr€nhLLbf
65211100 trLru lluh quqlr iluuu\ruprupnu-f .FQUZ hurq.4prud 6,000.0 6,000.0
6531 0000 h1h\rnprukhhpshurl h r-lurmurllurpurlmrl FCUZ hurq.4pull 8,000.0 8,000.0
64211230 $fpu{urb htnur}unuur\ruq FCUZ hruq.4prurl 520 0 520.0
92711100 F trurhphhururthh hurqh urpunlruqpmrl treuz hruq.4puril 180.0 180.0
34141320 Uqpurhhnurgrlurh trcuz hurq.qpull 11s.0 115.0

6511 1 '100 fu rlhlnr 2plr rlururur\urpurpmrf trcu2 hurq.4pul-f 320 0 320.0

6617'1 100 Orunrgriurh b |unphp4ulnrlmplurtr trcu2 hurq.4pruil 250.0 250.0

661 00000 truL\ur1 |rtr uuluruurp\rfurh treue hurq.4purrl 150 150
64216140 Uullmfr purdruhnp4urqprlurh trcu2, hurq.4pull t50 0 150.0

7 1250000 Uurpprurlnpnulhhpfr ;ullrurqprftutr trcuz hurq.4prurl 700 0 700.0

51 131 700
trd2\ur\urh pullrnhhhplr 4mpu phpilurh h
nlhlurgrlurtr trcue hurq.4prurl

300.0 3 00.0

ahnrtitLbpfrhrur-fr.ullurpqnrl' ; 9,'l"Iuq3urtr

I


